ST & [ i

=X 7 e RC 20375/05.2010
T ZEFRXA
B1Z 6 E 30 EAHZE 31.5MPa 8 ZE 450L/min # £ RC20375/05.2006

—a—"ThaTREE

—8hiHBE]

—8NEEEERS2OE

—RTOEE

—IBATVER
5% AR

S AIBORBINEE R RICIPHRM—THORBERE], MATFREMREI.
S ABORAERINGN, ENRF), BRANABENI=IMERS.

F2RTFRHEON, FEERFSERA,

RS
O Om
ENE T W
7 77

> — — .
T

BENRSHE

| |
m

— By

/a7
: v

A
RIRSIEE




BIS 158,

S o| B *
pJ HEeMPRAXZRE |
| AR =S
ThRe = Y BRRIEH
__ K =375 [
6 - 6 =6 p——— N
s 8 | EREDRERA
12 10 1(5) jg | 0= 0 A5 (P )
0w w0 w20 (0~9 RIIZERERR TR
T S ERES 1 - ]
XA 2 = ANl
R =P AEED: 0 = ToipeE
=y =A ] = FRE0.05MPa
BATR =K 2 = FRES0.15MPa
3 = FRBE/0.3MPa
h = FRBE0.5MPa
KRS
MR YRR BB R BB ES R E 0
RETE ce) —30~+80
HETE (mm?/S) 2.8~500
T/EEA (MPa) z31.5
HBEA (MPa) 0~0.5Mpa
BRAMRE (L/min) 18 ~ 450L

EF B F W
TR A0 B

TEAGFESBAELINERL ;

MG WBFEEZD 20um,
; HZ=STiEEs.

Al el WRHEER. (WFAIBEIIED.

BRI BRI A DS BIEA.
SEEENRDRBEER Y
SIRNERBIFEEZRK 0.01/100mm,




SMERERRS: (BEXXEEE. BANXEEE)

R~FE8A4L: (mm)

BRRIMNELERR Y :

b b
\
s HEEE S
Mg 6 8 10 15 20 25 30
o [ #| e1/a | et | e1/2 G3/4 " G1° G1/4° | o1/
I\l M14X1.5| M18X1.5 | M22x1.5 | M27X2 | M33Xe |  M42X2 | M48X2
H1 22 28 34.5 1.5 53 69 75
L1 58 58 72 85 98 120 132
T 12 12 14 16 18 20 22
S 19 24 30 36 16 60 65
B2 (Kg)| 0.1 0.2 0.3 0.5 1 2 2.5
BANS2QRINEERZR Y :
S NC | 6 8 | 10 | 15 | 20 | 25| 20
— =iy oD 10 | 13 | 17 | 22 | 2 | 3 |
0 oDz | 6 8 | 10 | 15 | 20 | 25| 20
RIS oD | 11 1 | 18 u | 30 | 8 | 4
, oot | 6 8 | 10 | 15 | 20 | 25| 20
DT FE | 4 i 4 5 5 71 7
b U | M2 | 119 | 143 | 18 | 18.8| 28.5| 28.5
1 j% L2 | 96 | 95 | 115 | 145 | 16 | 20.5] 2
' 3 | 10 | 16 | 16 | 18 | 23 | 31 | 87
22 wor L4 | 166 | 215 | 235 | 256 | 30 | 43 | 47.5
©D4 /| ——f=—0.5x45" 5 | 206 | 266 | 296 | 34 | 406 5.5 63.5
- 6 | 286 | 366 | 39.6 | 46 | 55.6| 75.5| 83.5
BH 1~ R T2 0.05Kg | 0.06Kg |0.06Kg | 0.1Kg | 0.2Kg| 0.26Kg| 0.3Kg
R 2
-0 . NC | 6 & | 10 | 16 | 20 | 2% | 3
REE V ODIH7 | 10 13 | 17 2 28 36 12
®D? 6 8 | 10 | 15 | 20 | 25 | 3
—7ES oD3He| 1 | 14 | 18 | 2 | 30 | 38 | a
1 . % {112 4 4 4 5 5 7 7
02 L1 | 95 | 95 | 1.5 | 145 | 16 | 4.5 | 25
‘D&/ 2 | 19 |18 | [ | e | 3 | a2
I Bppin 13 | 218 | 22.8 | 28.8 | 36.4 | 44 | 5 | 63
\ L4 | 208 | 30.8 | 388 |48.4 | 59 | 73 | 83
- JORERRE T s | 18 | 3 | 8 | % | 41 | 47
2 [0.05kg | 0.05kg | 0.05kg| 0.1Ke | 0.2Kg | 0.25Ke | 0.3Ke




SV R ERERS: (AR i) R~y 84L: (mm)

RN EORIMELIERR T :

all
|
—
|
—

H2

Al 4}__V_L\JI o1
‘ [0V ¥/ Y s V7
7O XD\
& i RERREEE
™ FREREEEK:
I N NN 7 N *
| OO =D
6w 4(5| 0.01/100mm l
L2 I %
- 5 -
- - .

\= ===} A\ BI:I
B RETERE] (6B /T70.1-2000) OFE JEEMR: NG10: G460/01 G460/02
G461/01 G461/02
10 4—M10 x 40—10.9 17.12 X 2.62 NG20: G412/01 G412/02
G413/01 G413/02
20 4—M10 x 50—10.9 28.17 X 3.53 NG30: G414/01 G414/02
G415/01 G415/02
30 6—M10 x 70—10.9 34.52 x 3.53
IMEPIRTTES
NG B1 B2 L1 L2 L3 L4 H1 H2
10 85 66.7 78 42.9 17.8 - 66 21
20 102 79.4 101 60.3 23 - 93.5 31.5
30 120 96.8 128 84.2 28 421 106.5 46




